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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
Wrong answer.

Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

If there is any sort of ambiguity/mistake either of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Depattment may also debar him/her permanently from
all future examinations.

39 T gRAH B 79 T T Wiel 99 D el T WY |
Do not open this Test Booklet until you are asked to do so.
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G.K.

e ‘1 r-?r sfr‘ FLEE
. Current events of Rajasthan and India .(Questipn Nos. 1to 10)

' L. 'Where is the ‘Devnarayan Nagar Integrated 1. YU @ T e # TR TR
Housing Scheme’ being developed in qaﬁw AT AT BEr ﬁzﬁﬁqﬁ zh”f w7
Rajasthan for cattle owners? ' qg?; %? .

(1) Sirohi () Tonk ® RRE @ <%
(3 Kota @) Thalawar @) P @ = .

2. Whe has been nominated as the'chai{nnain of -2 ?%I'\'Qﬂ?f F v fodi @ ST TG Fh]
the committee, constituted for the formation . SITIHT BT AMHAT B &g TS Ay
of new dlstncts and to assess their need in 7 e Ry H’Fﬁ?ﬁﬁﬁﬂn Ty %?
Rajasthall? . 1 ‘.‘ ) .2)5..-... | o .Gl;réf

(1) Ramiubhaya (2) Niranjan Arya A R (@) 'i[“w"'-' |
(3 DB.Gupta (4) Usha Sharina @) SE T @, e

3. “Darkathon 2022” was oiganised by - 3: gl 20227 P GG fRT T o —
(1) CBI - ® G (CBD &1
(2) NIA (2) T 6. T (NIA) BN
(3) NCB () w9 (NCB) 5®T
@) ISRO, @) SE (ISRO) BRI -

4. How rhany players from Rajasthan 4., Yo & ﬁv_\-ﬁ l%i?'ﬂﬁ';q\r 3 S &R
participated in Tokyo Para Olympics -2020? SERH—2020 ¥ 9T R e '

@ 5 @ 71° 1 5 2 7
3) 6 4 8. 3 6 | 4 8-
5.  “Jagriti Back to Work Yojna” is for - 5. NINd 9% ¢ 9% Ao & -
' (1) Those young male persons who have (1) 60 I B RO G i ()
' feft their job due to some illness. . BIg g6 I goul o Ry
(2) Those women, who have lost their job (2) eH ol EFRUﬁ ¥ W9 (o) oo ‘
due to-personal reasons. el Afgenal @ forg | ' |
(3) For those boys, who have lost their (3) DRSS T FROT AUT AVMF @)
~ parents due to COVID, 7‘ I TSP 3 R .
_ (4) For retired Government employees @) ?}Iﬂ]ﬁﬁ SR FHREr & g |

6. The global membership of International Tele- 6 SN, 2022 9% SRISAE qiER W
Communication Union (ITU} till January, (ITU) B! afsa-cﬁﬂma'r ¥4 afale § —
2022, includes - i _ |

(1) 193states  (2) 105 states (m 1933 @) 105

(3) 90 states (4) 156 states 3) 90T ‘(‘§) 156 g

| , ‘ - ' ' '
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7. Readthe followmg statements carefully - 1. ﬁﬂ:{ oI E?JI'FN;GY'CF ey —
1) Per capita income in Rajasthan has fi) AR ﬁt’T\' ﬂﬁff (2011- 12) ELd
growth steadily from 2017-18 to : 201718 ¥ 2021-22 4% Wiy R
2021-22 at constant prices (2011-12). .\~ o PR el &1 - -
(i) . The GSDP growth rate of Rajasthan is @) - a5 2021-22 F ReR Feul (2011-12)
11.04% against Indian GDP growth W ISR H a3l w®
rate of 9.20%in the year 2021-22 at ARG B NI g R 9.20% B
constant prices (2011-12). .« ST 11.04% € | ,
* Which of the following option is corfect? frafafae § @ P19 W Rover @ 87
(1) Only statement (i) is true | () P T ) E R
(2) Only statement: (ii) istrue © C Q) Bad BU (H) WY g
3 Both statements (i) & (i) are titie (@) P 3)T () I A 8
@ Both statements (1), & (ii) are-false (4) DU (i) T (i) E’Fﬁ U .
8. On 29% April’ 2022 Telecom Regulatory 8. aRd Wﬁ ﬁﬁzrmzﬁ it
, Authority of India (TRAI) has launched a (amgfim) # 29 ania, 2022 B B TR
- pilot study' for deploymg 5Gusing street BT ST BRD SO P AR BT GRS
furniture at - W LS A T~ ‘.
(1y Jaipur () SERHA
(2) Muombai (2 HaEH .
@ Kandla @) wiear
(4) Chandigarh ™ . @) =g F
9. “Veer Bal Diwas"will be.observed every year 9.  WREs IR Tl ﬁ'rm T ST —
' on - . _ ,
(1) 9&1 January - (1) . 9 G[-‘-Iﬂi! Hﬁ !
(2) 13111 MHICh s (2) 13 qﬁ'f[ EﬁT . To-
(3 14"November () 1TEFRH
: @) 26" December - @ 26 Reor -
_10." The 5Gi technology in’ India has been 10. WU # 5Giq&-i® AR & i —
developed by- ' 1) o o & wEE, 9 $
(1) 1T Madras, CEWiT and IT s, &1, (CEWIT) Ter 3g, ams, &1,
Hyderabad éw
(2) BARCand ISRO @ @ TR @ @) 7 o T
R, &fl. (§3))
(4) TIRF and CERI @ A o T, o @ & o
‘ 3., (V)
01 R . - Page3of24 1




; Statlstlcs (Question Nos. 11 to 40)

1. If Pif = 118.045 and Bf; = 118610, then 11.- 'R BY = 118.045 T Bf = 118610 %,
the value of P? is - . a1 PR3 T A1 B — _
@ us10 T @ 11981 W 18I0 @ 119581
"@) +119.177 @ 118670 @) 119177 @) 118670
12. Xeand Y are two rindom variables with 12. X 3RY 3 a1gRew v § Riiar sereT #er
variance, 52 and 02 respectively-and r is the ozl ¥ SR r g WA B P—
coefficient o‘f correlation between them. If ™ie ¥ AW U = X + KY aer
U X+KYandV X+( )Y then the V=X+(%).Y%.ﬂfK@;fWHH$%?
value of K for- which U ahd V ei.re U TNV & T G5-0R OIS BT S
uncorrelated is - | N am ,
LOx {9 . Ox * : ’ B
L N
@ 2 @ lu N o
e ‘ ) % @) = “). -2 '
13. “Link relative'in a time series removes which 13, & el A0 ¥ a@ﬁlﬁ IS e R
type of influence? . P W Pl g &7 - -
(1) Long term trend W m gqf%f
(2) Cyclictrend | @ = gy
@) imegulartend G OB ER
(@) All of the above - ‘ (d) ST Wi
14, Which of the following relation between 14. TH 9 B TS SR gyl g P
 central moments and raw. moments is/are arrEgUf @ iﬂﬂ et %7 ’ ‘
neorrest? ¢ ,‘ | C) e e = B 2
0 I'l3 ' = 3itz'ty +2l-1 ? . (2) 5" =3 = 3paly + 1y
@ ws" = e 3 i oo - (3 l14 ="~ 4"y + 3, ll1 —5111 "
) = el — Ay + 31 - 6y @) ' =e + iy + Oy "yt
) W' = e+ st + 611y " \ '
M 1and2," () “1and4 W o1wE2 @ 1w
® 2md3 @ daida C @ W3 @ 3we
01-88 ° : " Pagedof24




15,

'16.

17.

_If the annual trénd equation with 2004 as
. _ £
origin is Y =1128+ 648X , then the

monthly trend equation is -
(1) 94+045X. () 0.94+0045K

(3) . 94+0045X @ 94 0.54X

Give the.complc;te expecta}tion ;)_f life at ages
30': and - 31- for a particular’ ;éidup aré
respectively 21.39.and 20.91 yeirs and that
the number of living at age 30 is 47176, then
the. number that aftains the age'31.i5 -

) 41176 @) 40176

(3) 39176 @) 42176

3

In a SRSWR, population size is 100, number

" of draws in the sample is 18, population

variance S2 = 300. Then the variance of the

sample mean is -
M 9.00 @2) 1650
@) 1333 @) 16,66

18.

19.

@ 25

-~

The number of possible samples of size 2 out
of 5 population size in SRSWR is equal o -
(2). 20

3 10 @ 32

- ‘Who appoints the Vice - Chairperson of NITI

Aayog?

(1) The _President‘of India

) The Prime Minister of India
'(3) Lower-House of the Parliament

(4) Chief Justice of India

15.

16.

17

18.

19,

(@) 9.00

- (D

¥

- 2004 S (origin) TTeN YD STARY

TR V= 1128+ 6.48X 2, < AIRiP

SOERT THIEIOT BT —

1) 94+045K () 094+0045X
Gy 94+0.045X @ 94+054X #
faar 71 & 5 o Ry wE & R 30
31 91 99 T Qo S-S A 21,39

6 2091 a8 & ok 309 97 W S

P G 41176 €, ) 31 B SH AH g

Il B &I qa5d —
(1) 41176 f (2) - 40176

3 39176 @) 42176

SRSWR #, Wi-Riear &7 AR, 100 &, FF

F gt # dw 18 § e e R
S2 =300 &, o LT A BT feRoT & —

() 1650

(3) 13.33° @) 16.66

SRSWR ¥ 5 Swe SR ¥ A 2 AR B
Wi ot @ e R e

@ 25 @ 20

3 10

%W%m&aﬁﬁgﬁﬁaﬁﬁm
¥ .

4 32

ARG D TEFHAT,

2
3)
@
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The mean of six numbers is 48. If one

' BE. R BT Y 48 %) AR T e @y

20. 20.
number is excluded, their mean becomes 42. BT 91 S, O S9eT A 42 B ST 2
The excluded number is - T TE e & -
1 78 @ 7 1 78 (2) 1
@3) 60 @ 45 @) 60 @ 45
21:  If the lines of regression of Y on X and X on. - 21. AXRY IR YRX 5 SR YT
Y are respectively a1X + b1Y + ¢;= 0 and HH a1 X +b1Y + ¢ =03 a:X +bY +
22X + b2Y 4 ¢z =0, which of the following is c:=0 & i fr=ifoiRea & oo a1 vt
correct? ' 27
b
D A @) azh; sasby (D) bz - (@) aby<ah,
1 2 S by ay . .
@ bin @ ajby<azhy @b @), aby<aghy
2 ‘ - a3 by .
22. The gain in efficiency due to stratified 22. T3 T snws & R URRT-—<RT |
random sampling (proportional allocation) m;ér[%;—cﬁ wftraas (SRSWOR) & Suv wRe
* over Simple Random Sampling Without TRERA QFIRi® dear) # wE @ o
. Replacement (SRSWOR) for the given :
data - B
‘ Var(y,,) = 2408 and Var(yst)p=18-06 iS_ - Var(yn) 24 08 T’TQJT Var(yst)p—18 06 % —
T ) 30.30% . (2) 32.33% (1) 30.30% (2) 32.33%
(3) 33.33% @) 33.67% B 3333% @ 33.67%
23. From a population of N=150 unmits, a 23. 3f® N=150 SHEG & e ¥ n=12
‘ SRSWOR sample of ‘size n=12 units is PR & FHEL BT TF SRSWOR THAT
' drawn. .Denote the population by TR P T &) IR e @)
"U={u1uz,03,....oectiiso}. Which  of  the U={u; up,us,......... s} ¥ el fear wiR,
- statement is true? . o P § § 9 @ v v ¥
‘ (1) Probability that uz4 unit is duplicated A w55 Wf\ ¥ S .ﬁr
in the sample is non-zero. SaH MR I e 2 ’
(2) Probability that both u; and u3 are in ) ul3ﬁ?u3:|1ﬁ H B S9% yilRwar
. i 2
the sample is . 55-%]
(3) uwj unitis included in the sample with () w 3PE TE A wfe & SH@ -
probability 2—25 | TR 422;’5\’1
(4) Probability that the sample will @) T 12 ST T 8 W
: 1.
‘ ) contain 12 distinct unit is % ot E'ih
01 -3 Page 6 of 24
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24. Which of the following are pait of fandate 24, FreifeiRee ¥ § F-& SDRD & F& ke
of SDRD? o # | "
(1) Planning of Survey (1) e &Y BT
(2) -~ Formulation.of sample design ' (2) srael v BT Rt
(3) Conducting of sample survey (3) wireel G BT HIAET
(4) Preparation of survey report @ wduor RO B T
! b
Select the correct answer - N E Rey o1 TAfwT BT —
(1) 1,2and4 @ 1,2and3 (1) 1,294 2 1,273
@3) '1,3and4 (@) Z3and4 @) 134 - @ 2,374
35. The standard eror for sample median 25. gEoiaed whemr & fod wfteed wilaer @i
statistics for large sample testis - qd Fe ® —
! ‘
. R ¢ K ‘ ) -
1) '0'6745ﬁ - (2) 1:2533}% il 0.67-45% @ 1_25331%
g ‘
&) 2}.36263% @ 1'96ﬁ 3) 1.36263% @ 1.9_6%.

26. 'Which of the following is NOT a Sustainable 26, f=faiRaa ¥ §-PN—u1 16 Haq fawr
Development Goal (SDG), which is to be w1 (SDGY I @ed & 8, T 20309
‘achieved by 20307 - BIRfel AT &7
. (1) Gender Equality - (1) e FEe

(2) Space Research @) Sfcrie SELEIY
*(3) Zero Hunger Q) T Wﬁ
(4) * Partnership for the goals @) &8 &g WEER

27. X = 0687 = 0.25,0% = 1.1576, 27, oft X=068,Y = 0.25,0f = 11576,
o% = 1.6075, Cov (X,Y) = 035, then . o =16075 @ Cov (X,Y) = 035, @
i(X,Y) [correlation coefficient between X r(XY)[XTW Y B A YE—gweg T’ﬁ'?F]
and Y] is - ' 2

@ 022 . (2 029 1 022 2) 029
3) 035 (4) ' None of the above 3) 035 @) T aﬁs‘ =&
01- &3 Page 7 of 24 .
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28. If the first ,foufiraw moments’ are 020,11 28. IR} WM IR RS gRur} B 4 Eh'FI‘\’T
respectively, then the value of B is - ’ 0,2,0,117%, Fﬁ P2 &1 9 BRI ~
1 245 - a 245
(2) "255 @), 255
() 265 3y 2.65
@ 275 @ 275
* 29.  One observation is drawn from a population” 29, T GRS mifdar ‘EI'FIEI qw_c?Ff
with probability de11131ty functwn: p . E ; 0! cx< B
£(x:8) = 9 » 0=x<8 X -0 ;  elsewhere
s 0 ; eIsewhere ﬁlwﬁﬁf‘rm%ﬁ%iﬂﬁHo B=1dT
If the. critical region for testing Ho: 0 = 1 H ‘=2 faog Wew v o R
against Hi: @y = 2is 1 < x < 1.5, then the mﬂﬂl<x<15§ﬁ>{qﬁmﬁﬁm
power of the test is - .
1y * 0.50 2) 025 " ). 050 @ 025
3 075 -(4) None of these . @ 675 @ T e ;ﬁ?f
30. A type I efror ocours in -testing of 30. Elﬁ?h_cvqT-IT THET ¥ 1R @ Ffe ﬁ?ﬁ'ﬂ
hypothesis, when we - - g, S & — .
(1) Rejecta fa1§é null hypothesis T @ 31\73& T INGTT Bl JEPR B
@) Rejecta true null hypothesis @) W= I IR B PR
(3) i)o not reject a false null hypothesis . () O I IRET BT AIBR 7 R
" @) Do not rejectatrueknull ilypothesis @ ‘\qﬁ?{ﬁ I ARG B mﬂ T
31,  The equation of the parabolic trend'is 31,  Racnfde ygRy o1 e
Y'=46.6+ 24X - 13X Y =466+2.4X - 13%°% | ¥f 7 71 3 Wl
If the origin is shifted backward by three . tj:[g} RIMGRT a1 w1, aF wReaeilis Ry
years, theé equation of -parabolic trenfl will BT THEROT FT BIT?
be - . ' .
(1) Y=277-54X- 13X (1) Y=277-54X-13%>
2) Y=511-54X-13x? () Y=511-54X-13%2
3) Y=277+102X- 1382 @) Y=27.7+102X-13X*
(4) None of the z.ﬂ:_qove @ S d § oY T
01-68
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32. Constmchon of life-tables is based on the

assumptlon that - _
i

~

(1) Age-specific death rates are constant
. atall ages.
(2) Death rates “ are uniformly‘
distributed between two birth l_days. -
' 63) Mortality rates are same for males
and females population.

(4) All of the above

33. The total fertility rate in a town is given to be

* 3619, Assuming that for every 100 girls, 106

boys are born, the gross reproduction rate
[y ) ¥

‘would be -
(1) 2928.90 (2) 1756.80
(3) 3416.10 4 186220

34, Consider a single observation from the
population f (x; 8) = %e‘xfe ;x20; >0
Let x 2 1 be the critical region for testing
Ho: @ =2 against Hy: 0 = 1. What are the
probability .of type 1 and ‘type: 2 efrors

respectively? ot

(1 =22 @ 1 Y1
e Ve Ve’ Ve

@ E11 @ L=t
< e e . vele

35. Conducting ‘sample registration s:ystem’ in_35.

32.

33.

4

et it 1 FAie 5 WL 88 9 W

AR &7 L

(ﬁ a@ﬁﬁmﬂﬁwma%m
fer 81

@ o R S e gee e

; ¥ fraRa

&) ﬂ—mﬁﬁwgﬁﬁﬁaﬂm
‘" %WW%I

@) s .

wwﬁmmw%w%lwmﬁ
gq%looasﬁm’r%ﬂmmsasﬁzﬁr_

mﬁm%aﬁwwaﬁwmﬂ

&R —
(1) 292890 2 1756.80
(3) 3416.10 (4) 186220

tﬁ?ﬁ “f(x;(-])--le""fe 1x20;0>0 9

frar | IR W Ho:0=2 @ R

H:f'::. 0 =1 TEayet (plewe) &= (
{'xftzl‘}‘%,a’rgﬁl-@‘g’%zﬁi-mﬁﬁﬂ[ \
-2

a = = (2) L o2
* ‘ w/— £ \,E,‘.b/; 5
(3)‘ Ve-1 _1_ @) Left .
ve. e Vve' e

India is the responsibility of - i P w raer 87 . (
(1) NSSO @ CSO ‘@) NSSO @ CSo.
. L : :
(3) RGI (4) DES . (3) RGL (4> DES
01- &3 ., Page9of24 < ‘ /

"k
EA




36. If the old series is connected w1th the new 36

' ‘(1)

37,

.

38. In the symmetrical distribution, mean 38.

series of index numbers, it is known as -
Backward Shifting

Forward Shifting

Base Shifting

None of the above

@
3
“)

'The income of five persons is as follows—
Person Jncome  /Month)
A " 1700
B . 2300
C 7000
D - 8500
E . 5460
“The above series is of the type -
(1) Individual series
2) " Discrete series -
- (3) Continuous’series
(ZI) Time series

deviation is equal to -

0@

37.

4

| S T Pl i &7

‘() e wEwYT

(2) R wRIEiERT
(3) MR IR

@ w9 P o
5 femal o o e & -
=i a7 (& /A8
A , 1700
. B - 2300
C 7000,
D 8500
* E 5400
SRR -$7 e W 9 @ -
1) =afEET Svi
@) wfsg Ao
(3) W Ao
L@ FEaAR '
U W de @ oy e e dar
-E,‘__
) '

G
N’
Q

@

D Qs ()
AW

© () 00

c @) . @ (e

" 39, Circular test is satisfied only by the indices 39. @i yeT ﬁ‘ﬁ A BT B, U9 T |
based O ..c...vuivvvrrenns TR SR Gadis £y
(1y Arithmetic mean (1) THCR. 9y

' (2) Harmonic mean (2) TRIHS TR
(). All of the above @) SREE T
40, Sum of quarterly seasonal mdxces in 40, TH uRrET ¥ SmRne Al IS - BT

multiplicative model is - T QIS fhae g 87
1) 600 @ 0 (1) 600 @ o
(3) 12000 @ 400 - h 3) 12000 @ 400

01 -3 ~ Page 10 of 24




History of-’Rajas;than (Question Nos. 41 to 50) -
41. Which one of the following folk’ dances 41 Fr=ifded # @ wiwar AP \‘rﬂ?ﬂ'\’ forel

; represents Jalore district? ' BT uAfRR S 87 .
(1) Dhol (2) Chang (1 e 2 =1
(3) -Geendar @ Bum @) dies @ T\
42. Which of the following pa1r is .not correctly 2. P F Y B g ghfer wE 2
matched? o
" (Books) (Authors) o (geTeh) ) (i)
‘(1) Nagdaman - SayanJhula - (1) AT — I e
(2) SurSingh - Madhodas Charan 2) TR W T — AEEE AR -
Rau Chhand (3) SRR ~ fagemma
(3) TasRatmakar - Vithaldas . @ Wﬁ?ﬁﬁ - — el WE
(4). RajVinod * - Jag Jivan Bhatt
43. Which of the following pair is not correctly 43, ffeRad 151’ il ﬁﬂw '{1’“1 ghferd 8
matched? . ) . B?
(1) Brij Festival — Alwar - @) 9 R - 312;]%['\'
(2) Summer Festival - Mt, Abu - - 2) W7 TERET — - HISUC <icH
(3) Elephant Festival — Jaipur (3) =Rl 9Ecag — STIGR
_(4) Desert Festival — Jaisalmer i} 4) A% TEg — @maﬁ—\;
44, The painter who is known for his life size 44, PR W a0y AEHER a]ﬁﬁ el @ fog
poriraits - ST S0 & —
N (1) -Sahib Ram of Jalpur ' T 1) SR B qﬂ%zm‘q
(2) Nihal Chand of Kishangarh @) e &1 e 9T
(3) "Ahmed Ali-of Bikaner . 3) §BER BT aEAe T
(4) Sahibdin of Mewar o @) m 7 aifead
45. Match List-1 with List-Tl and sclect the 45, @I G-I o1 fam i &R A &g
correct answer by using the codes glven MY GH P PR W A8 G?R’ g —
below -~ ) . I (E'\ﬁarﬂ' )
*  List=I (Name of the Books) "(A) E?TR TR )
(A)  Shringar Haar ' (BY T q@ﬁ .
% Saag “{aﬁaﬂm | , (©) i darar
2}  Sangeet Mimansa . Tt .
\(D) Bhav Man_]ari " ‘ ®) %ﬁ_% & )
) List -I1 (Name of the Authors) ™ . ( '
()  Kumbha g @ g
(iy  Hammir | 83) m
iii) © Pandit Bhav Bhatt .
Eiv)) Pundrik Vitthal - @) YU fgm -
Code - : €e - ‘
A B C D ‘ A B C D
O () @) Gv) @ o ) @) )
(2) © () (i) 6 iv) 2 @G 3D (i) iv) -
3 O (v) G . (i) @ O - G G)-. )
@ (i) i) G (i) @ @ G O (ii1)

01 -3 _ Page 11 of 24




Which one of the following British Generals: 46.

e ¥ A R v Ry A0 el .

46.
[ctiticized' the British Government for TR A BT B 2N B R ARY wxaR
hanging Tatya Tope? @Y aelEET o7 -
(1) Captain Showers 1) DT i
(2) Major Burton (25‘. IR T
(3) Col. Holmes ' (35 peter B
(4) General H. G: Roberts ' @ v, e |
47, ‘Which of the following ancient sites is 47. ﬁrnr%ﬁqﬁ d F P AEN W f%rfé‘r
related to Shivi Janpad? SFUT ¥ e 37 !
(1) Nagari (2 Nagar (1) T (2) TR
48. 'Who among the following built Eighty four 48 freforfe # kil ﬁh‘aﬁ ARG G ] B Ber
 piltared cenotaph? , | BT AT FHRamr?
(1) Rao Raja Budh Singh (1) ¥F T ﬂ:erﬁ]g
(2) Deva ‘ (2) <@
(3 Rao Vishnu Singh @) < foy Rig
(4) Jaisi Bai @ GWI'T ar&F
49. - The fort, which is also known as “Monsoon 49, <, S YA "R B W 7?{ Al ST ST
Palace’- g -
(1) -Achalgath fort (1) 3EerTE g
3 Gagron'fort (3) TR Sqf
.4 Mandalgarh fort @) HisaTe _S's_‘f
50. The founder of Singhthal branch of 50. IFEE WUSH B Rigvd wrr @ yadw
Ramsnehi sect was - R
(1) Lalgiri Ji (1) A Sl
(4) Santdas Ji ( 4)§ T
01-8 , | . Page 12 of 24




51:

.52,

53.

54,

Tn MS-Excel, output of function =

Computer (Question Nos. 51 to 60)

(“INDIA”, 2
(1) ND
(2) NDI
(3) DI

, 3) will be - ’

4) Error
In MS-Word, how can you increase- the font 32

size of selécted textby one point every time?

(1) By pressing (2) By pressing

Ctrl +] Ctrl + [
'(3) By pressing (4) By pressing -
Ctrl +} Ctrl + {

MS Office Excel 2007 actually stores numbers  53.

"With 0n1Y..eeeveeerrronnnne. digits of precision.
1 12 2) 13 )
3 14 @ 15 '

File extension of MS Office PowerPoint 2007 54,

Macro-Enabled presentatlon is—

MID 5L

. T TS ¥, BoW (GaEE) = MID

(INDIA”, 2, 3) 1 STSeqe #hm — -
1) ND |
(2) NDI
3 DI - g
(4) Error
THGN. € ¥, 91 g SaRE B i SR
PI & AR & g § SN o1 Wb B2
M) Ctil+] (2) Ctl+[gamx
" qEmER
"3).>Cl + ) @) Ctl+{

A, T, b Tl 2007 T § Al @
R....... [T TP B g & TR ©R Ha
g1

®n 12 @ 13

3 14 4 15
T, T i UR @ige 2007 © Fh -
sﬁmﬂﬁ%maﬁmzﬁrmﬂ%mﬂ ........ g1

(1) .ppt (2) .pps @ ppt () ~ pps
(3) .pot (4) .pptm (3) .pot (4) .pptm
55. In which topology, computers of the network 55. g e ¥ Hege B IS Uh E;\‘ﬁ’
are connected to each other in circular fashion? 9 Eﬁﬂa/"\c@aq TP W IS BRI 87
(1 Star (2). Ring 1) ®R @ R’
(3) Mesh 4 Bus. @3) . I @ ¥4
56. By" cicfault, the margins for a blank document 56. TH. T, Hifbwr 7€ 2007 & T Red SiRpic
~ in’MS Office Word 2007 afe................. on the & q¥ U9 9% TR Rvle wr 9 .
left and right: - H B B
(1 075" 2 1 I 0.75" 2.1
3) 1.25" 4 2 3) 125" @ 2
01 - &3 Page 13 of 24
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£

57. In MS-Word, we can change ca{se of selected 57. TH-UY. T8 ¥ &0 TG S &7 ?51-‘1 (TR, .
text (upper case, lower case, sentence case) AR, I BE) ... & WA & TRaRRT

using - ’ THHPA B | '
(1) SLift+F3  (2) Cul+F3 (1) Shift+F3 (2) Cui+F3
@) Shift+FS (@) Cul+F7 . (@) Shift+F5 (4 Cul+F7

-

58. In MS-PowerPoint, which of the following 58. T, TW. U WS ¥, T ve @ omiel Wt
option is used to move into next cell'of a . WM @ R FF F ¥ B T Aoy TR #

_ table? : Iy o 87
(1) Ctd+Tab Cd) Cel+Td -
(2) Enter . | \:(2}‘ Enter
@) Tab R (3) Tab
@ Cul+Shifi - ' @y Ctrl +Shift

" 59. In MS-Excel, which of the followirig is 59, T U TR ¥, TF @ A9 F e fuy
suitable option to make all content visible T BT 3 Attt gRT walfa aRy

within a cell by displayirg it on multiple lines? @ forg B & . B 1 Rieew Suga ¥

-~

(1) View—Zoom - (1) View—Zoom

(2) Textto column

(3 Message and Center

) Text to column
(3) Message:and Center
(4) Wrap text | @ Wiptext

h)

60. Challenge-Response authentical used on 60, @I 3R 7 F 95 + & RiY T2 W

internet to set man and machirie aparti§ known  * YR FARN-AR STR TGO ... FE -
as - . Tl N

() orp - @) A

@) CAPTCHA . | @) Dy

(3) QRCODE . (B) IR TS

(4) PASSWORD o @ _—

01-&3 ; .. Page 14 of 24
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i

61;

z

62.

C. Geography (Questlon Nos. 61-70)

Vertisols.soil is mainly found in -

(1) Jhalawar, Kota, Bundi, Baran
:  districts

.(2) Churu, Sikar, Jhunjhunu Nagaur
. districts,

(3) Sirohi, Pali, Udaipur, Chlttorgarh

) districts

(4) Taisalmer, - Barmet, - Bikane_r,

Jodhpur districts:

In which of the followmg reglons in
Rajasthan ‘Badland Topography s found?.

61.

62.

aﬁ@aﬂagwmmﬁq@mﬁ’r%—
- (1) Eeldrs; aﬁaa:cﬁ ari foret §

'(2? %, R, 3R, TR e A

3) R, ureh, e, ﬁ?ﬁm R
4

@ tﬁwﬁ? 4R, zhasﬁv vﬁagg
ot # .

ﬁmﬁ%mﬁéwﬁmmﬁ

. TR RIgR IRl R 87

(1) LuniBasin . (1) L 9
{2) Chambal Basin - @) = IR
(3) Shekhawati - .3 ?ﬁ@ﬁﬂﬁ
(42 Bangar fegion @ EIFTS m
63. * Which one of the- following is fiof a joint 63. =1 # ¥ 31 W T& Iuw, gRemn T
~ irrigation pl:ojectn of Punjab, Haryana and NTSTREIT X)) 'ﬂgﬂﬁ ﬁl’iﬂ'&F Qﬁ?fl\_ri?ﬂ SEl
Rajasﬂmn states? &7
n Bhakhra—Nangal PrOJect ) '*’IT@?:T—-W R
(2). Beas Prolect , . Q) = R
-3 Gurgaon Canal PmJect - @3) TiE Fex ufaer
| @) S1dhmukh PI'O_]CCt o A @ RigT@ R
.64 As per, the Administrative Report 202i by 64, ORI a RMET § yEe wigagT 2021
the Dept. of Forest, Rajasthan; the district & arga g8 Rien wigt afie WG «‘?IBI
" where actual protected forest area is reported Gﬂih_cﬁ? TRERE S 9e & — ‘
maximum, is -
i) Keemli - @ Udmpur- ‘ Wy " et @) SEAR
'(3) Banswara  (4) ‘Jhalawar _ (3) TS 4) s
65. In which region of Jaipui, the ‘Leopard. 65. SR & &9 & A gen IBr e R
Safari Park’ is situated?, & o
(1) Kukas (2) Mohanpura 1) T8 (2 HETgRT
)} Tiotwara~ {4 Jhalana (3 T W) s
66. Devgarh Wind Energy Project js located  66. é’cmﬁ e GoTl GRETT. o + arafferd
at - : i %\I
(1) Jaisalmer : - (1) SR,
. @ Haumagarh @
(3) Pratapgath B @) W
(4) Baran °, W AR
01 -3 - Page 150f24 -




67. Rajasthan launched the Wind & Hybrid  67.

Energy Policy in the year-- )
.(1) 2011°% P
.2 2019

@ 2020

@ 2023

68 Which district of Rajasthan agriculture-has 68,

been adversely affected by Bean problem‘7

. LI

‘(1) Kota .
(2 Alwar .
(3) Hanumangarh N 5
(4) Banswara |
69, Match the following — 69.
h District - Copper deposit area
(A) Alwar (1) Padar Ki Pal
" (B) Dungarpur (2) Madan Kudan
(C) Jhupjhunu _(3) Bhagoni
(D) Sikar (4). Baleshwar
Code - ' .
A B C - D
1) 3t 1 2, .5, 4
@ 4 12 3
@ 3 2 Loy 4
@ 2 i 4 '3

70. ;,I‘hé correct sequence in descending order of  70.
the districts of Rajasthan according to
perceatage ‘of Scheduled caste Eﬁopulati_on'
(2011)is - g

(1) Hanumangarh, Ganganagar, Churu,
Karauli .
(2) Karauli, Churu, Hanumangarh,
Ganganagar .
(3) Ganganagar, Karauli,
Hanumangarh, Churn
(4) Ganganagar, Haliurri'ar;gar'h/; )
 Karauli, Churu

v ‘ §

T TALH T C
(1), , 2011

@) 2019 o

{3) 2020 | ‘ .
@ 202 ’
W%Wﬁﬁ#ﬁqaﬁwm
S I &fy g8 37 )
s Q). PR

@) R

(B TITE

‘(@) giwEre
ﬁw%r%{aaﬁgﬁﬁaﬁrm—

(A) SR (1) U A g
®) R{ () " FEH

© g1 3) e

(D) W= 4) TR

e — _ .

‘" ' B ¢ D

® - 3 1 2 4

:(2') 4 2. ,.3

& 3, 32 L . 4

W, 27 1 &

s R B SEEn (otd) Eﬁi

WWRWEFWWMW

i .
.

10 sawrsr'f g, TR, %, e
(2) mwmm\
) Wﬁﬁ?ﬁs@qﬁw@

@ TR, TG, IR, T6

01-&

e
-~
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71.

72.

73.

(1) 6.83%
() 883% - (@) 1083%:
Which of the following is NOT exception to” 72,
the law of (iemaod? A
(1)  Veblen goods | g
(2) Bandwagon goods e
(3) Giffen goods it ‘
(4) Normal goods”
Whlch of the following statement is NOT 73
correct? - '
(1) Monopoly price is greater than

74,

E"(&:oﬁiitilics"(Quest’ion"Nos. 71 to 90)

As per Tdian Railway year book 2019-20, 71.

the share of Rajasthan in the totaﬁéng;h. of
Indian Railways route at the cnd'of'March
2020 was - .
(2) 7‘.83%} o

perfect competitive price.
Perfect
greater than monopoly output.

)

competitive output _ is
(3) Maximum economic efficiency is
achieved in perfect competition.

Demand curve of firm in perfect

@

competition is negatively sloped.

As per Economic Review 2021-22, the  74.

preliminary forecast of total food grain
production of Rajasthan for the year 2021-22
is expected to be -

(1)- 279.45 Lakh Tonnes

(2) - 259.09 Lakh Tonnes
\ Y

(3) -225.20 Lakh Tonnes

(4) 210.09 Lakh Tonnes

)

AR e, e Y 2019-20 P AWK,

A 2020 % I G ARG I B G

S SR WSy B R o1 —

1 6.83% @) 7.83%

@) 8.83% @ 1083%

Frfiam § & wiT & fraw a1 e T8

3 -

D

2

©

@ wFErY Ty

ﬁwﬁaﬁﬂmmﬂé’r?ﬁ?{%?

1) R Fwa gt afae dee Y
% B B

@ T oRE sE e
IATET o . grar B 1 ,

@ of sRaf ¥ sfea ek
FETeTIl U B 2 |

@ o it § v @1 A 9w
FUT® 1ol T BT & |

apifdfes e 2021- 22% SR, Ersf2021-22

# o # g @ §a B?tna?f ol

U gatgae & -

27945 g e .
(2) 259.09 g e
(3) 2252099 e

210.09 *g ©51

L8

@

o;-@
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75.

76.

77.

78.

79.

Which of the following is NOT a seconcjafy‘
ot subsidiary function f money?

(1) Standard of deferred payments

(2) Stoteofvalue =~ '

(3) Transter of value

4) Measure of value
Which of the following is NOT a function of
Commercial Banks?

(1) Accepting of deposits

(2) Credit creation .

(3) Purchase and sale of government

securities

T @) Credit control

Which of the following is the main obJectlve
of Rajeev Gandhi Krishak Sathi Sahayata
Yojana in Rajasthan?
(1) Provide quallty seeds to farmers in
time
{2) Provxde subsidy for Fasal Bima
Yojana

| (5;) Provide financial assistance for

Agricultural marketing
(4) Increasing water supply for -
irrigation
Which .of the following contributed highest
in the revenue receipts of the state of
Rajasthan during 2021-227 - '
(1) Own Tax revenue *
2) Non-tax revenue
{3) Share in central taxes
(4) Union grant
As per Economic Review 2021-22, number
of Biomass Power Generation Plants

commissioned in Rajasthan till December

75.

76.

77.

78.

78.

FrafoRed § ¥ o1 @1 39 91 B oy 91
(1) IR e # A

'(2) q@mw

(3) meﬁw

@ TEFAE .
ﬁw%r@aﬁﬁaﬁwmwrﬁmﬁﬁfﬁrm
a's“f%‘?

\ (1) wmﬁm

(2) g fAEer e | o
(3) o a7 AR FET
@ e e B

IS 6T 9] S 7 5 9§ P9 91 87

1) T I I o dot PowE
W HG BRI ' ) ‘
@) wga & S S R GEEE S
@) i fwm & Re Rt wem

o ;
@) R S Red o angft ¥ i

"2021-,22-3% A § IoRIF WY B W

BN ael B Yo o e ¥ Y -

zsm‘raamwwmw

(1) " ad B B IS

2 | iR—ax X

(B) ovE H R

@ wEwomgem |
aftfe wdien 202122 B R, s

2021 T TR A enfUT SR Sl
oy & ey off -

2021 were - ) _

@O 13 2 15 nH 13 (2) 15

® 1 @ 9 @ 1 @ 9
01-%3
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80.

81.

. 82,

" 83.

Which of the foHowmg is NOT the Ob_]BCtIVe
of Rajasthan Agncultural Competltlveness
PmJect? o
(1) To increase production and
pproductivity in agriculture -
(2) To increase farmer’s income
(3) To promote climate resilient
agi‘iculture
@) To provide financial assistance to
repay bank loans '
According to Economic, review 2021-22,.the
position of Rajasthan in productlon of crude
oil in Indiais -
(1) First- (2) Second
(3) Third > (4) Fourth
The monopolist will be in equilibrium at that
level of output where the price: elastmny of
demand is -
(1) lessthan one
(2) more than one
(3) zero
@ Both (1) and (3)

The ratio of total deposits that a Cominercial

Bank has to keep with Reserve Bank of India
is called -

. (1) Statutory Liquidity Ratic

85.

(2) Credit-Deposit Ratio

(3) Legal Reserve Ratio

(4) Cash Reserve Ratio
As per agricult;lral census 2015-16, the
average size of operational land hoIdmgs in

Rajasthan is -
(1) 18Hectare (2) 2.73 Hectare .
(3) 4.62 Hectare (@ 5.13 Hectare

Which of the following is added during the
calculation of personal income from
National Income?

(1) Transfer payments

(2) Social security contributions

(3) Corporate taxes

{4) Undistributed corporate profits

80.

81.

82.

83.

84.

83,

H § ST e | &Y |

. () i F SR 9 SrEd Bl IS

@) TIF I I

(@) IR e P PTG A
@ Yo mo 3 yugm @ fow fdw
i weilem 2021-22 % YA, ARG & P
el @ ST # oRAM @ ®F & —
2 fda

@ =g

1) WA

@) T

,w@mﬁwmwmwﬁﬁm

et AT B e A -

)

(1) @s%rav‘sr
2 T 9 ke
3 =

@ Q@ @) .
a&rm&ﬁma@mﬁ%mﬁmﬁiﬁ
F) IR Red §& & U o S e
8, 98 HEonal & —

(1) e TReRT STURT

(2) I U

(3) T DIV IR

@) BT P SR

H TR 2015-16 & AR, Woree A
YaIfeRt F-uiih @ 3id SR & —

1) 18 ¥R () 23R
(3 4.623R|W @) S13TRE
TSN I ¥ WfRe g A AT B
v # 9 R irer s 87

(1) ERIFROT A

(2) TG FRET ST

(3) T '

@ e fdaRa e

01 -3
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86.

If the supply cufve of. a commodity is
posmvely sloped, a mise in the price of the

commochty, ‘holding everythmg ‘else

constant, results in and is referred to as -

87,

3 |

)

&)
@
3
@.

an increase in supply
an increase in the quantity supplied
a decrease in supply

a decrease in the quantity supplied

The short run supply curve of the perfectly 87

competmve -firm is given by -

(1) the rising portion of its short run
marginal cost curve over and above
the average variable cost ‘

(2) ~ the rising portion of its short run.

marginal cost curve over and above

the break-even point _

the rising portion of its short run

‘marginal cost over and above the

short-run average cost curve |

the rising portioﬁ of its short run
marginal cost-curve

Joar

»
1]

!.1

.o

ﬁq&*wﬁﬂnﬂweﬁwqﬁaﬁﬁw

ST -

M 9 A iy

(2) URI BT AT A g

@ A

(@) S B = AR G

wmﬁﬁtﬁrmﬁﬁgﬁwm

GﬂﬁT%—

1) FEFEREE JET AT TP P TR

BT JABEH HHANT AR dh DY

JgaT gl W

JAPIAT oA — waﬁﬁwﬁr%

gmm,-

-W@WWWWW

B AT -

(4) WWWWW@W
AT

t.“

(2)

()

88. According to the advance estimates for the 88, ¥ 2021229 i’e‘f({ S g 3 IR,
" year 2021-22, the per capita income of 2011:12 @ ReR W W ORI B
Rajasthan at constant (201 1-12) prices was - ufoeafad s o — .
(1) 74009 2) 81231. (1) 74009% (2) 81231%
@3 X 107903 @) 135218 (3) 107903% @), 135218%
89. Which of the following factors is a ﬁscal 89. = A 9 P FRT ﬂ?ﬂ’lﬁﬁ =T <
measure to control 1nﬂat10n‘7 RSB SUY 27
(1) Raising Bank Rate M YTy S
2) R?ductlon of Government Q) WIR ™ ¥ -
Spendings . , ey ‘
(3). Increase in cash resérve ratio () s m 3T ? qﬁ‘g .
: {4) The encouragement 6f*savings @ Eﬁlﬁﬁ Eﬁ?\‘lT@?f Rl
90. What was the installed capacity of power as eI A ReR 2021 9@ we @t
on December 2021 in Rajasthan? SRS & @ P
(1) 21836 MW (1) 21836 Amdic
(2) 19712 MW () 19712 7wElE
(3) 23321 MW (3) 23321 ¥rEie ‘
" (4) “24810MW - @) 248103l .
01 -3 Page 20 of 24
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i

2 45% ‘1
@ 50%

() 42%
‘@) 41%

) numbers having no common facfor, then ’

value of ]I:—_*ﬁ is —
o = @ =
7 9 %
B 4 @ B
.:’ 3 B - » 41 1{! .

. 92. Ifthe average of five obServationéxx (x+2),
(x +4), x+6), (x + 8)is15, then average of

g " the first three observatlons is equal to —
m 1 @ 13
@ 15 @ 17 &

93, If in an exarnination, a student sE_qred 25%
marks in the first paper -out of 180 marks,
then how much he should score in the second
paper out of 220 marks so that he v;vill get

36% marks in all in.the examination?

94. The ratio of income of A and B is 5:4 and the
ratio of their expenditure is 4:3. Find the
income.of A, if each saves ¥ 1000. B

@ 6000 (&) 5000,
® ?5500 @ 2 6566§
95---+ + + +ﬁ 1sequalt0‘—£
i 1 @ i
Y3 3
i @
9. 1fya+vb=17andva—vb = 1, then the
'valueof\/_ls— i
d 17 ’ !(2) 64
‘@ 17 . @ 100 '

Maths (Question Nos. 91 to 100)
91. ¥ 1.42= .-, where p-and q aré natural 91

92,

93.

94.

.95,

96.

Iﬁ-l ﬁ=£ , SI8l p T q T &N 8
Wmﬁéwﬁﬁwﬂﬁ%‘ a‘r

P4 oot A E —
p-q ‘ -
a @ =B
7 . 9 '
(3) 4 4 =8
3 41

—

trf%maﬁzﬂvﬁx(xu) ( + 4), (x +6),
(x +8) &1 altwr 15 &, ar wom & deroll 7
o W E -

1 11 @ 13

-3 15 @ 17,
% ve femefl, 1 when & M U uH ¥

180 3 # ¥ 25% 3iF gid, RG] €, aF o
%ﬁamwﬁzzom#ﬁﬁﬁ%w

mmﬁrsﬁﬁﬁﬁ%wmﬁwsﬁ%
eﬁtﬁ IS PN B? '

(1) 42% (i} 45%

@3) 4% @) 50%

A SR B 9 39 HT oFUN 5:4 & 3R w9
=Y T IR 4:3F1 A 9] IR 06 BN,
IR I 1000T F9T FT B

(1) 60003 (2) 5000%
e )
(3) 55003 @ 6500% .
-+ + + +aw 8-
®» 1 @ !
2 - 3
3 2 -1
i, 4 . 6

: uﬁj Va+vb=17 3y va-vb=1, W

Vab @1 7 & —
n 17 2) 64
@ 72 @ 100

018 " T
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97.

98.

Ifa:b:

the value of ‘b’ is —
(1) 1800 ° @) 1200
(3) 1500 4) 2000

An amount is invested at compound interest

. payable annually. If the interest in first year

is 1500 and.in second year it s ?1(_’)20, then.

_ the amount invested is —

99,

100.

(2) T17250 -
4 18750

(1) 16000
(3) ¥18000,

WHiat is the average of first 9 prime numbers?
4 9 L@ 1

® 11l @ ‘11l

Some part of ¥ 12, 000 was Ient at 5% and

remaining part was lent at 8% per annum

simple interest, if the total interest recelved )

after 6 years is ?4}860, then the dlffereng_e
between these two parts ig -~ - '
1y T2000 (@ 2800

(3) 3400 @ 4000

c =‘1 :3:5 and ¢ —a =2000, then

* 970

98.

99,

o3

100.

A a:bic=1:3:53R c—a=2000, 7@
b BT A & -
M 1800
(3) 1500

(2 1200
4. 2000.

Wvﬁrwﬁﬂwaﬁawﬁﬁww‘

WWIﬁwaﬁﬁmlsoﬂm
fﬁiﬁaaﬁumﬁzo%% a‘rﬁ%rara?rvﬁf
mﬁr%-—_.

@ ,16000? 2 _1‘7250% ,
" (3) 8000% (4) 18750%
B 9 T ﬂ@m‘r A aﬂﬂﬁ kit %‘?

P 9 @ 11
Ay L2 ' 1

® 1i2. @ 11l

12,000 %a?ragﬁ AT 5% T O A 8%
P e & W) R o ) afe 6
Y] YT Gel T 4860 - U B ®,

3 T AT @ AR & -
(1) 2000%- (2) 2800%
3) 3400% "(4) 40003

=
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